Rear Valance Rear Valance
// @Zyx-_nc Z Ford Fiesta 8 ST // @Zyx-_no Z Ford Fiesta 8 ST
design.com Installation Manual design.com Installation Manual

Mounting kit includes: Mounting kit includes:
3M tape, degreasing cloth, 2x M5 25mm screws, 4x M5 nut, 6x gasket. 3M tape, degreasing cloth, 2x M5 25mm screws, 4x M5 nut, 6x gasket.

1. Remove the original diffuser. 1. Remove the original diffuser.
2. Drill holes in the bumper (picture 3,4) 2. Drill holes in the bumper (picture 3,4)
We recommend using a 8-10mm drill bit. We recommend using a 8-10mm drill bit.
3. Check the fitment of the part with the bumper. 3. Check the fitment of the part with the bumper.
Screws should enter freely into the holes. _— Screws should enter freely into the holes. —s

=N el

4. Use the degreasing ¢

<

loth provided to clean the contact 4. Use the degreasing cloth provided to clean the contact

surfaces of the tape with the bumper. surfaces of the tape with the bumper.
5. Place the part into the bumper appling preasure, 5. Place the part into the bumper appling preasure,
so the tape stick properly. so the tape stick properly.

6. Drill holes as shown in pictures 5 and 7 (left and right side). 6. Drill holes as shown in pictures 5 and 7 (left and right side).



// = 7_ >X._.O Z sz%g Design ([ Maxton Design

desi Q n.com QBQxao:amm_osloEQQF

7. Use included hardware to securethe part to the bumper.

// = Z >X._.O Z az%g Design ([ Maxton Design

design.com

e maxtondesign_official

7. Use included hardware to securethe part to the bumper.

Optional mounting method with the use of ABS angles supplied in the
mounting kit, if you have a differend bumper than shown in picture 3.

1l =

8. Enjoy the properly mounted :wo: valance from
MaxtonDesign.

More installation manuals on our imu%ﬂiii. 3 Qx.ﬁo 3 Q mm m Q 3 . oo 3\3 Q 3 c Q Fm

Optional mounting method with the use of ABS angles supplied in the
mounting kit, if you have a differend vcavﬂ than shown in picture 3.

8. Enjoy the properly mounted rear valance from
MaxtonDesign.

More installation manuals on our imcm:mniizc 3 Q x.ﬁo 3 Q mm m Q 3 . Oo 3\3 Q 3 C Q —.m



